Ejercicios de Cambio de Base Numeérica

Nicolas A. Ortega Froysa
September 24, 2021

1 Pasar a Binario

o 45745 = 100101111100,

e 51245 = 1010010101004

e 52607 = 1010101100001115

e 6016 = 011000002

e F0l;6 = 1111000000015

« BABAs =10111010101110104

2 Pasar a Octal

e 10010010, = 2224
« 1011000110, = 13065

e 110001110011, = 61635
e Bl = 2415

e 1AFs = 457¢

o 157816 = 125705



3 Pasar a Hexadecimal
e 101001105 = A61g
e 1001101110, = 26 B4
e 1101010101105 = D561
e 7215 = 1Dl
o 12455 = 2454

o 24705 = 53816



